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HISTORY
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Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

. Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate.

Candidates should attempt Question Nos. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

The number of marks carried by each
question is indicated at the end of the
question.
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Section ‘A’

(Modern India)

1. Comment on any three of the following statements
in about 200 words each : 20x3=60

(a)

(b)

(d)

(b)

(c) .

“Though the Permanent Settlement had serious
defects, it gave tranquillity to the countryside
and stability to the government.”

“The Arya Samaj may quite logically be
pronounced as the outcome of conditions -
imported into India by the west.”

(Lala Lajpat Rai)

“Please remember, in granting separate
electorates we are sowing the dragon’s teeth
and the harvest will be bitter.” (Morley)

“The annexation of Awadh shook the loyalty
of the Sepoys, as it was for them an ultimate
proof of untrustworthiness of the British.”

Why was Mysore considered a threat by the
British to their possessions and mercantile
interests in the south. Do you think that Tipu
Sultan’s posturing became his undoing ? 30

How did the East India Company become the
dejure power in India ? 30
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ave ‘s

| (zrmerferes wILe)
1. Frafafaa § & et drr a9 ox fRooir fifSrg, s
TS ST 200 =51 # BT J11e 20x3=60

(%) *‘aaft et sErEE & K AT F, TErfy IE
TUTHIOT &5 T 9hifd 3K g & &q1fde 9=
femar”’

(@) ‘o garr Y faege g &9 @, ofem
ERT WA # arfaa aermsil & aftons & &9 &
aifyg frar ST asar @17 (|6t Ao Tq)

(1) ‘T g fEy fF gus Fates et @ @R
9 FA N oH 399 & Sral dr G K @ €
iR & oo et & anir |’ (7re)

() “‘srayw F gumen 4 fFofeawt & Fer =@

wzre foar o, Fifs =% oo ag @it &
srferyaa-aar &1 us sifaw areg ar

2. (&) Far &wor g7 {5 siirer fq =t afeqor & s siferga
& 3 SR fRat & o v sar A 2 ?
7T e fa=aR & 21g gear g A9=ET TEbr ' |

& I fa=sr &7 oy FAT 7 30
(@) %= 3fear Fuet fog go) v § faferer: afts

TS AT ? 30
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3. (a)

(b)

(b)

How did social legislation in the nineteenth
century improve the condition of women in

India ? 30
Analyse the social composition of the early
Congress leadership. 30
Discuss as to why the Congress accepted the
partition of India in 1947. . 30
Do you think that the Quit India movement
was a Spontaneous Revolution ? 30
Section ‘B’

(World History)

Comment on any rhree of the following statements

in about 200 words each : 20x3=60

(a)

(b)

(c)

(d)

“The capitalism which gave the European
empires their apparent solidarity and perma-
nence also hastened their downfall.”

“In all the long annals of Imperialism, the
partition of Africa is a remarkable freak.”

“Hitler did not really want a world war. His
intention was only a short war with Poland.”
(A. J. P. Taylor)

“Arab nationalism and oil — these were the
principal factors in complicating the relations
of middle eastern countries with the outside
world.”
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3. (%) I=Eal arest ¥ gt fFum F e g
W # Afgereit AT w0 gard 4T ? 30
(') gifs 0| Aga & HHiee d9ed &0

fEreersor fifsa | 30

4. (%) ==t A 6 1947 § FAF T TR 7 fawrem
g @R ¥ SR o ar ? 30

(@) F|r avs R § ‘R IR d|ed @&
TR it ol ? 30

miq’
(forew sfergm™)

5. frafefaa ® ¥ =l de AT 93 oot fifsma, s
g ST 200 STsa1 H & : 20%x3=60

(=) ““Fore goftare 3 g GTETSAT ST ST FTHTHT
et A Trfi g= foRar an, SE g A
I qa <t e ST AW F ar Ar | '

(@) “‘grETsaae ¥ 9R |« sfager A, ShEr &

| T U SgEd st s geAr 1

(1) ‘‘feeer areag A fang gg A€t Sredr 91 | SEEHT
TaT Qe F 19 Fad UF G g8 F o
gl , (T. 3. 491, ZeR)

() ‘s TEraaT AR A — FEF gt a8 F AT
HOR ¥ O Gl # Ia@d A& &4 A el
T &S o |
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6. (a)

(b)

(b)

(b)

Discuss the emergence of neo-imperialism in
the late nineteenth century. 30

What was the extent of industrialization in
western Europe by the end of the nineteenth
century ? 30

How did Napoleon Bonaparte fuse the old
France with the new ? 30

Why did Vietnam go through thirty years of
war after the seconld world war ? 30

Account for the overthrow of the Tsarist
regime in Russia. ‘ 30

Examine the peace-keeping efforts of the
United Nations Organization. 30
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6. (F) I=gal yaTeal & SO § AT-HEIAR &
IGHA UK F=T 6 | 30

(@) Seiteell wmeal & d9 . 9l g9 A
sitgannteeor &7 feramT e ar ? 30

7. (%) Aqifermq SHAOE F 9= 9 H A9 HIE &
ary e g wrfora fRar ar 7 30

(@) faaa fana gg & ae=Tq SaaaT & die a9t &
g F AAAT 99T 4T 7 30

8. (F) &9 ¥ WRAWRT WET & d&ar Iae feu a™ &
FIRON T FATRC | 30

(@) |@gh TSg H@ST & snfa-stREr gaTEr @
qiteror i | 30

B-DTN-J-1JB




B-DTN-J-LJB

geT-9 II
AT : dtg aue| ' quriss : 300
I
gdF 997 fa=1 3 st a1 & a9 21

g & IO< IET AT H fo@ s =@ifeu
forqaT Soota dT9a gas-97 A fFar v 8,
IR 59 ATEAH FT TIE Iooh@ Fol-JEdh &
qE-98 9 Jlad fAlke & 93 fFar s
FT1ET | 9397-97 9% Ifcorfard Aareas & sifafis
I fFdt AnaT 7 fa@ 17 SO K] FIT HE
TET Aot |

T FET ] RS HfAad & | I gt # &
g GUS § FH-T-FH QaF 997 A< faal
&t 93491 & Jo< T |

IAF 997 & [T (79 37k 997 & sia & fauw 1w
g/ -

Note : English version of the Instructions is printed on
the front cover of this question paper.




